3. SINIF PROBLEM KiTAPCIGI 1

Cevap001= 6; Cevap002= 3; Cevap003=116;
Cevap004=253; Cevap005=473; Cevap006=156;
Cevap007=185; Cevap008=59; Cevap009=242;
Cevap010= 0; Cevap011=970; Cevap012=706;
Cevap013=36; Cevap014=64; Cevap015=363;
Cevap016=66; Cevap017=88; Cevap018=385;
Cevap019=751; Cevap020=180; Cevap021=43;
Cevap022=469; Cevap023=26; Cevap024=99;
Cevap025=931; Cevap026=210; Cevap027=16;
Cevap028=176; Cevap029=908; Cevap030=432;
Cevap031=640; Cevap032=780; Cevap033=40;
Cevap034=523; Cevap035=137; Cevap036=145;
Cevap037=605; Cevap038=109; Cevap039=124;
Cevap040=50; Cevap041=207; Cevap042=25;
Cevap043=109; Cevap044=952; Cevap045=166;
Cevap046=266; Cevap047=159; Cevap048=995;

Cevap049=40; Cevap050=605;



